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Test 1

Part I Listening Comprehension (20 minutes)

Section A

Directions: In this section, you will hear 10 short conversa-
tions. At the end of each conversation,a question
will be asked about what was said. The conversa-
tion and the question will be spoken only once.
After each question éhere will be a pause. During
the pause,you must read the four choices marked
A),B),C)and D),and decide which is the best
answer. Then mark the corresponding letter on the
Answer Sheet with a single line through the
centre.

Example ;You will hear;

You will read .
A) At the office.
B)In the waiting room.
C)At the airport.

D)In a restaurant.



Sample Answer A3 (BICI (D
From the conversation we know that the two were
talking about some work they have to finish in the
evening. This is most likely to have taken place at
the office. Therefore, A)“ At the office”is the best
anvwer. You should shoose (Alon the Answer Sheet
ond mark it with a single lir.:c through the centre.+
. A)Tom’s. B)The woman'’s.
C)Bob’s. D)The mir’s.
. A)He didn’t see it.
B)He liked it better than“Jaws”.
C)He didn’t like it.
D)He thought“Jaws”was better.

- A) $2.00. B § 4. 00.

- C) $6.00. D) $ 5. 00.

. A)At 7.45. B)At 7.30.
C)At 8:00. D)At 7.15.

- A)Red. B)Red and blue.
C)Blue. D)Red and green.

. A)The man.

B)The man’s brother.
C)The woman.

D)The woman’s brother.
. A)That Bob is unkind.
B)That Bob can’t help.
C)That Bob will help.
o4



D)That Bob wants money.
8. A)At Bill’s home. B)At the school.
CYAt the library. D)At home.

9. AdAt 9.30. B)Ar 10:15.
CYAt 9.00. D)At 10.00.
10. A)John. B)Bill.

C)The man. D)Sue.

Section B

Directions : In this section, you will hear 3 short passages. At
the end of each passage,you will hear some ques-
tions. Both the passage and the questions will be
spoken only once. After you hear a question, you
must choose the best answer from the four choices
marked A),B),C)and D). Then mark the corres-
ponding letter on the Answer Sheet with a single
line through the centre.

Passage One

Questions 11 to 13 are based on the passage you have just

heard. '

11. A)When they don’t have a car.

B)When they live in a huge country.
C)When they don't use planes.
D)When they have a car.

12. A)The United States is huge.

B)Public transportation is not so good.



C)Americans like to be independent.
D)Americans like to move around.
13. A)Busers. B)Trains.
C)Taxis. D)Planes.
Passage Two
Questions 14 to 16 are based on the passage you have just
heard
14. A)In 194%. B)In 1926.
C)In 1957. D)In 1929.
"15. A)The old editor retired.
B)He wrote a good story.
C)Another reporter quit.
D)He was interested in financial news.
16. ADHis daughter. B)Another writer.
" C)His editor. D)Himself.

Passage Three _ ,
Questions 17 to 20 are based on the passage you have just
heard. .
17. A)1886. ~ B)1900.
C)1890. - D)189%2.
18. A)Writing. B)Mathematics.
C)Physics. D)Art.

19. A)He liked her style.
B)She didd’t have a job.
C)He needed another writer.
D)She liked to travel.
N



20. A)Writing detective stories.
B)Painting pictures.
C)Writing for women’s liberation.
D) Writing poetry. ‘

Part I Reading Comprehension (35 minuts)
Directions ; There are 5 passages in this part. Each passage is
| Jollowed by some questions or unfinished staie-
ments. For each of them there are fou_r choices
marked A),B),Cland D). You should decide on
the best choice and mark the corresponding le‘tter
on the Answer Sheet with a single line through the
centre.
Questions 21 to 23 are based on the following passage :
Born Cassius Clay in Louisville, Kentucky, in 1942,
Muhammad. Ali retired from boxing in 1980. As an amateur,
he won 100 out of 108 fights. Later,as a professional boxer ,
Ali was trained by Angelo Dundee, who pushed him on to
face champion boxer Sonny Liston in 1964;in this exciting
match, Liston was unable to continue the fight after the
sixth round.
After winning the championship fight against Liston,
Ali announced that he had joined the Black Muslim religion.
At the time, the Vietnam War was in progess. When Ali
claimed to be a conscientious objector to the war, based on
7



religious grounds, he was denied exemption from military

service. Refusing to be inducted into the U.S. Army,he was

stripped of his right to box and was given a five-year prison

sentence,a conviction that was reversed three years later.

Once again able to enter the ring, Muhammad Ali became

the first man to win the world’s heavy-weight boxing title

three times.

21.

22.

23.

According to the passage,what was the result of Ali’s

1964 fight against Sonny Liston?

A)Liston was claimed winner by decision after only two
rounds.

B)Ali knocked Liston out in the seventh round.

C)Liston was unable to answer the bell in the ninth
round.

D)Ali was proclaimed champion after six rounds.

What happened to Ali when he refused to enter the

United States Army during the Vietnam War?

A)He spent five years in prison.

~B) He was accepted into the Black Muslim religious

group.
C)He was denied his boxing rights.
D)He was immediately exempted from military service.
When did Ali announce that he had become a Black
‘Muslim?
A)He announced that he had become a Black Muslim
after defeating Liston in a championship fight.
8



B) He announced that he had become a Black Muslim

while he was still an amateur boxer.

C)He announced that he had become a Black Muslim

after the Vietnam War.

D)He announced that he had become a Black Muslim

when he retired from boxing in 1980.

Questions 24 to 27 are based on the following passage:

The state of Kansas is called the “Bread Basket of
America "because it ranks first in wheat growing and flour
milling. In addition, there are hundreds of cattle ranches in
western Kansas, some of which cover 50, 000 acres. The
state is larger than most states, but rather sparsely
populated.

In pioneer days, many settlers passed through Kansas
seeking rich land and gold farther west. Looking upon
Kansas as a “useless waste of land,”they refused to settle
there. However,when Kansas joined the Union in 1861 as a
free state opposed to slave labor, the population began to
increase. Finally, the railroads helped to attract settlers by
selling them inexpensive land. _

24. What did the early pioneers think about Kansas?
A)They thought there was gold in western Kansas.
‘B)They found slave labor too expensive.

C)They considered the land unproductive,

D)They liked the rich soil.

25. How did the railroads attract settlers?



A)By giving away gold.

B)By offering cheap land.

C)By constructing flour mills.

D)By opposing slave labor.

26- Which of the following descriptions fits Kansas best?

A)The population is small,but the state is large.

B)1t is a large state with a large population.

C)The state is small and it has few people.

D)Its sparse population inhabits 50,000 acres.

27. What is the chief occupation of most Kansas?

A)Farming.

B)Running railroads.

C)Weaving baskets.

D)Mining.

Questions 28 te 31 are based on the following passage;.

Five bodies of water make up the chain of lakes called
the Great Lakes. Each of these five lakes i among the
fifteen largest lakes in the world. The largest of these lakes
is Lake Superior, followed by Huron, Michigan, Erie, and
Ontario.

Lake Michigan is located entirely within the United
States, but the other four lakes form a part of the boundary
running between the United States and Canada. These fresh-
water lakes form a waterway more than 1,000 miles long,
which is as busy as,if not buiser than,any other waterway
in the world. Canals have been dug to make the lakes a
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